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OXMMHZBHEM M=nFA IHZ
5,000, 000& 23] 10,000
O=Z A2 M= 30,000,000& *13 30,000
ooz ded=stz 28X
3,500,000& * 12 3,500
OHS AMOIZAEUS SHA
4,000, 000& 12/ 4,000
OHdEsNEUHE MY N
500,000& 202! 10,000
O3zstg 570Uz 3,000, 000& %12/ 3,000
O5k3stg =20 5,000,000& * 12 5,000
O= =t HOIE=SU3 JH=l 4,000,000 *13] 4,000
Ob&7= ZEAOIESUE MHA
5,000, 000& 123/ 5,000
O5AIZ BHESIEEl JHEl 5,000,000 * 12 5,000
OO0l=HILIATHE! K= 5,000, 000& *13] 5,000
OAN=ZZSEUE =& 522U3 HA
5,000,000& * 12 5,000
OHMI45| BHCIZE 5=7AIZ HILIATHE]
5,000, 000& 12/ 5,000
OR=F 8ot &= AEN0ESUHE I
3,000,000& 13 3,000
M=o 54 105,800 105,800 0
307 2120l & 105,800 105,800 0
02 2ItBAE X 105,800 105,800 0
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SN 23T
FH: NAHMSUE (2L 2Z /M=)
= MSXARAAE 2 ANExd (et &)
RA B SA(BH) - NRAY - B 0fl &t e HRS2
OAJ3UR ZHl 2 E&dl X
100,000, 000% * 14 100,000
O=Z 38U =&dl ¢ Fotdl X&
5,800,000 * 14| 5,800
fxzHM=sE2E N2 50,544 0 50,544
307 212t01d 50,544 0 50,544
02 22t E X 50,544 0 50,544
ORFZM=g23 ME=EHES 25,564
—ANE=E 2= 1,324,0008 122 15,888
—d0i=s 1,324,000& 43| 5,296
—HERE=s 215,000& »12& 2,580
—EZ0l 150,000& =12 1,800
OFF=M=Eg22 2g8X& 24,980
—332= 140,000 x12& 1,680
— At 22l 300,000 x12& 3,600
—E304l 50,000 x7E*12& 4,200
—uw=0yl 50,0003 7 »3& 1,050
—3l2Bl (Ol R 2SR 3IH]) 3,750
Ol Ab=2!Hl 10,000 x50 *32 1,500
23?2/l 10,000& * 15 %102 1,500
SSE A 10,000 x15E x52] 750
— A=A =4 150,000& «5& #2323 1,500
—= g 120,000& »5H x12& 7,200
—SEF Ot 200,000& »5& 22| 2,000
HENFWY 2 16,600 11,745
= 4,980
o 11,620
307 212t01d 16,600 4,855 11,745
S 4,980
o 11,620
02 2I2tHHE X 16,600 4,855 11,745
OdeMsud =24 16,600,000 16,600
& 4,980
o 11,620
MEH XX BRI X 83,712 83,712 0
7 41,856
= 41,856
307 212t01d 83,712 83,712 0
) 41,856
o 41,856
02 2I2tHHE X 83,712 83,712 0
O MBUSNEK WX 83,712,0002 83,712
) 41,856
o 41,856




A Sot2t2
=

HH: NAHSIE (2L 2E /M)
2l MSANAE L A8 (ctel: &
_ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH '@,‘;OH Hos
HE24 MEHSX TSI X X2 20,928 20,928 0
Il 10,464
> 10,464
307 QI2HOIA 20,928 20,928 0
pJ 10,464
= 10,464
02 RItFMEE 20,928 20,928 0
ool24 MsEs XA 20,928,000 20,928
pJ 10,464
= 10,464
Fad =304 2F 8,400 8,400 0
[ 2,470
2 5,930
307 QI2HOIA 8,400 8,400 0
[ 2,470
> 5,930
02 RIAHAFMNEX 8,400 8,400 0
O|R4d £ 29 8,400,0002! 8,400
[ 2,470
i 5,930
MBS ZHELEX 400,000 0 400,000
401 A &HIL 2048 400,000 0 400,000
01 Al&d 400,000 0 400,000
Oxgg &1 25,000,0002 47K 2 %40 &4 400,000
HHESNOIESE =4 510,000 0 510,000
401 A& HIZL S 510,000 0 510,000
01 Al&H] 505,996 0 505,99
OEXisl 60,000, 0003 =14 60,000
OHEZHOIESE LI A
860,000 %500 430,000
O&AEAH S 430,000,000 *3.72% 15,996
03 A& 4,004 0 4,004
OAl&HI 2L 2y 430,000,0008+0.931% 4,004
LECITELSLEEUE=EZ =4 500,000 250,000 250,000
401 Al EHI2L 2 500,000 250,000 250,000
01 Al&d 480,000 250,000 230,000
OSLSHYUEZ=EI21H(EXINNY)
480,000,000 * 124! 480,000
03 Al& S 20,000 0 20,000
OSYsSAZ= B2 =4 20,000,000 20,000
MEHK s5002 0 28,971 27,857 1,114
[ 9,657
= 19,314
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SN 2snE
HH: NAHSIE (2L 2E /M)
&St MsSXNEAY 2 Aldxd (et =3
SN EE - ER(EN) - NRAY - BaS sl e HlRE2
307 QI2t0IA 28,971 27,857 1,114
= 9,657
= 19,314
02 QltaaE X 28,971 27,857 1,114
OdEMs sseleld X 28,971,000& 28,971
= 9,657
i 19,314
HEdg 29 J12Z24| 59,130 37,614 21,516
201 B3| 52,130 29,520 22,610
01 AtR 22/t 16,850 11,520 5,330
O==addEMS AL 222 ME
,850,000& *12] 3,850
O=adMetdate e FEE A
,000,000& =12/ 3,000
O&=Uz |X EE=HZ 10,000,000 14 10,000
02 ZZ2H| 26,280 9,000 17,280
O - & HUAZYHOEST 29
,500,000& x65 & 9,000
Oodzaissa 338 17,280
—HIIRe3 300,000& *12& 40 & 14,400
=523 60,0003 123 ~4 0 &~ 2,880
03 A2 EHI 9,000 9,000 0
OXM=8At XI& 4,000,000& 4,000
OdHANE =25 Xt 3,000, 000& 3,000
OdEAN2E 425 7Y 2,000,000& 2,000
202 O4Hl 7,000 7,194 A194
01 =Yl 7,000 7,194 2194
O HNH 7,000,000& 7,000
HASE AZLZHISHALY 6,720 0 6,720
Il 3,360
= 3,360
307 QI2t0l A 6,720 0 6,720
Il 3,360
i 3,360
02 ItAANSE X 6,720 0 6,720
OAZXHIRHM AlEAHY 6,720,000& 6,720
Il 3,360
= 3,360
AZ=0HAE 20,000 0 20,000
206 M=l 20,000 0 20,000
IER] 20,000 0 20,000
OXM=A4 EHl 20,000,000& 20,000
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SN 2SR
M XHSH
!

Sl HSKANY L ALES (e @
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
BERNCK 2YAY 2,700 0 12,700
= 3,810
2 8,890
307 212+0IH 2,700 0 12,700
= 3,810
2 8,890
02 QIRAMBE 12,700 0 12,700
OBENCK 29 12,700,00024 12,700
= 3,810
2 8,890
HHSSFU(SS2Z D) (JIEHIIE) 13,440 14,400 960
p[CEL] 13,440 14,400 960
2N IR 13,440 14,400 A960
201 Yer2g| 6,720 7,200 A480
01 AtR2elt] 6,720 7,200 480
Oz 6,720, 0002 6,720
202 01t 6,720 7,200 480
01 =UH0iH] 6,720 7,200 A480
OJlEge=x 6,720, 0002 6,720
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